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1. Subtract the following

a)

g)

Subtraction -1

b)

Th H (0] Th H
5 6 9 8
3 2 6 5 1

d)

Th H (o] Th H
8 6 9 7
2 3 1 6 7

f)

T-th | Th T o T-th | Th
8 0 7 9 3
2 0 7 1 3 1

h)

T-th | Th T | O T.th | Th
8 8 8 8 7
3 5 7 2 7
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2. Write in column format and find the difference between the following numbers

a) 7845 and 4220

d) 76723 and 89945

b) 6402 and 8603 c) 2232 and 2452

e) 87527 and 82210 f) 99843 and 82634

3. Fill in the empty boxes as appropriate

a) b)
Th H T (0] Th H
4 8 9 7 9
_ _ 5
1 5 3 5 4
c) d)
T-th | Th H T 0] T-th | Th
6 2 7 9 7
_ 1 2 3 _ | s
2 7 4 3
4.9998 - 3782 =
a) 6216 b) 6316
c) 6226 d) 6261

5. 54871 - 24601 has which number at thousand digit?

6.4272 — 4200 is nearer to
a) 80

c) 70
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b) 7

d) 0

b) 95

d) None of these

All Rights Reserved.




LetsPlayMaths.com

7. What number should be placed at the position of ‘?’ to make the number sentence true?
7780<7795-7
a) 40 b) 10
c) 90 e) None of these
8. Find the missing number in the following subtraction?
6 7 8 5

- 3 5 3 2

3 - 5 3
a) 3 b) 5
c) 2 d) None of these
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